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Def: A Rational Expression is the Q\m\»{g.ﬁ'}" Restrictions of a rational expression:
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Determine the LCD and show the steps to create the LCD in all of the fractions. Add/subtract and simplify.
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1. Ify varies directly as x, find kif y = 3.75 2. If @ varies directly as b and @ = 36 when b = -9, find @ when b= 12.
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3. Graph of a direct variation v = kx . Two properties:
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Joint Variation
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y varies jointly asx and z. If y=-315whenx=5,z=9,

a) Find k and write the equation. by Find yifx=-7,z-8.
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Combined Variation
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z varies jointly as x and y, and inversely asw. If z=10whenx=35, y=-2, w=3,

a) find & and write the equation. b)findzwhenx=8, y=6, w=-12
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Applications — Highlight the key words. Then find &, write the variation equation, and solve for the unknown.
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1. The power in an electrical circuit varies jointly as the current and the square of the resistance. The power in a circuit is

1500 watts when the current is 15 amps and the resistance is 10 ohms. Find the power in a circuit when the current is 20
amps and the resistance is 25 ohms.
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2.A Efﬁs&g;_&;\r’s carned run average (ERA) varies directly as the number of eamned runs allowed and inversely as the

numnber of innings pitched. In a recent year, a pitcher had an ERA of 2.56. He gave up 72 carned runs in 253 hmings.

How many earned runs would he have given up if he had pitched 300 innings, assuming that his ERA remained the
same?
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